R~ ARERX EEFE 01
1. x%RDK (S, A1 40%, BH3 43, CH54)

(1) (r+4)x5=xx2+35 (2) (z+7)x6=(x—T)x10
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2. o ZRODE (SHk1D, ARk1340%, B35, Cik55)

(1) (24+3)x6=ax2+42 (2)  (2+6)x7=(x—6)x10

3 (30—2)x > =(z+8) x5

e
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RN AREX EHFE 01 #EEHER
1. z%2RKDE (S, AF1240%, B3, CHE5D)

(1) (r+4)x5=xx2+35 (2) (z+7)x6=(x—T)x10
rx5+4x5 = xx2+35  <—kEH TXx6+Tx6 = zx10-7Tx10  <k/EH
rXxbh—xx2 = 35-20 —kHIH rx6+42 = axx10-70
ex(5-2) = 15 2470 = ax10—zx6 <—kBIH
z %3 = 15 112 - &% (10-6)
T = 15+3 112 = T X4
x = 5 B R T = 112 +4

*ER  AREREIT
*BHE =] OMUNCBEIT S & +, - Ml 5.
*ER  ATREEFI ]
B Tex6] % T6z] LELAEEDH 5. *BHE =] ONANZBEIT S & +, - AT 5.
ERS 2FBHOAD br—20=35-20 275,
HEPRELTEDLDT, T3P >THL.

3) (20-2)x 2 =(x+6)x2
5 3
20x%—xx% = xx§+6x% —y JE
8—x><2 T X = +4
5
8—14 = X =+4+zx= —k T IH
! = ox(5+5)
_ 16
4 = gc><15
_ . 16
o - ST
. I i
4

*JER  ATREEIT
*BIH =] OHANCHEIT S & +, - RS 5.
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2.

zaROE (SH1, Af1340%, Bik3 3, C#H55 )

(1) (z4+3)x6=xx2+42 (2)  (z+6)x7=(x—6)x10
Tx6+3x6 = xx2+42 k&M rXxT7T+6x7 = zx10-6x10 < kJEH
rx6-—xx2 = 42-18 kB IH rx7+42 = 1x10-60
rx(6-2) = 24 42 + 60 = axx10—zx7  <kBIH
x x4 = 24 102 = 2x(10-7)
T = 24+ 4 102 = rx3
x = 6 B x = 102 =3
x = 34 ~BZ

*ER  AREEIZ
*BIE =] ORKMENCBEIT S & +, - Pl 5.
KRR AT |
*BIH =) ORMCBET S L +, - BWIET 5.

3 _ 3
(3) (30—2) x & = (z+8) x
3 3 _ . 3.5, 3
30)(3 fL‘Xg = .”L'X4+8X4 e*)ﬁsﬁ
B-zx2 =  zx346
5 4
_ 3 3
_ 3.3
12 = xx(5+4)
_ 27
12 = x><20
_ .27
T = 12 20
T = 8§ EZ
9

KB ATREEIT
A [ =] ORAIMIZHEET S &+, — PHET 5.
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